Orign STKP

ARGUMENT AREA
4 WORD ALLIGN NIL Padding
BLINK FLAGWORD=8000H
IVAR=OrignSTKP
It’'s Return VAR STKP’
ALINK+10+1 #ALINK
FNHEADLO
FNHEADER=DEFPTR
FNHEADHI1 | FNHEADHI2
THIRD SP+=4 NEXTBLOCK
PC
NAMETABLO
NAMETABHI1
#BLINK
#CLINK
SECOND SP =
FFFFH
FFFFH
THIRD SP
FINAL SP FLAGWORD
SIZE

ENDSTK

FREEBLOCK UNTIL
STACKEND

Number of Argument *
WORDSPERCELL(2)

If (mod currentSP 4) 1= 0
then Nil Padding and SP+2

MSB LSB
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USECNT

PADDING
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FLAGS=\STK.FX(6)
NOPUSH=T
INCALL=NIL
FAST=NIL
VALIDNAMETABLE=NIL
NAMETABHI2
POINTS FLAGWORD

CLINK+10

Fill in PVar region with "Unbound"

Need extra junk quad after
the (null) PVar region

AOOOH
ENDSTK-FINALSP



